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https://harryzaims.com/201/videos/chapter-04/4-3/videos/00a-FTC-l-and-

Proof.mp4
®
See harryzaims.com for FTC I proof.

@https://harryzaims.com/jams/ 160608-with-erik/b4-ya-cuze-me.mp4



https://harryzaims.com/201/videos/chapter-04/4-3/videos/00a-FTC-I-and-Proof.mp4
https://harryzaims.com/jams/160608-with-erik/b4-ya-cuze-me.mp4
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Unless specified, all approximating rectangles are assumed to have the same width,
3

Let A{x)

{a) Estimate the area under the graph of £, the x-axis, and the lines x = 1 and x = 2 using four approximating rectangles and right
endpoints, [(Round your answer to four decimal places. )
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https://www.youtube.com/watch?
v=WUvTyaaNkzM&list=RDCMUCYO_jab_esuFRV4b17AJtAw&start_radio=1&rv

=WUvTyaaNkzM&t=0&t=0
®



https://www.youtube.com/watch?v=WUvTyaaNkzM&list=RDCMUCYO_jab_esuFRV4b17AJtAw&start_radio=1&rv=WUvTyaaNkzM&t=0&t=0
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